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18. Solve the following assignment problem :
Workers
W X Y. Z

Jobs A | 80 | 70|90

~ B| 7019090 | 80

C|100{80|70| 110

D|100|60|80] 70 |

Spsranib osEEs® Arismamu §iss.

Goueneniim_ser

"W X Y Z

venflsdt A | 80 |70 | 90 | 100

B| 70 [ 90|90 | 80

C|100| 80| 70| 110

D|100 |60 |80 | 70

19. Solve the following problem graphically :
. Player B :
Player 8-—8- 4
-1 1 -3
Sipssramib sansdaen elarLLLb apewd Sids.
eflenerum’_ @ ey B
eflenarium () ey A [ 3 -3 4
i i T e
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22. " National Oil Company has three refineries and

four depots. Transportation cost per ton.
Capacities mbm requirement are given below : ¥
D1 D2 Dz D4 .Capacity (ton)
Ri _ 5 T 13 | 10 700
Rz 8 | 6 | 14] 13 400
Rs . 1210 9|11 800

mmﬂcﬁmgmﬁw.ﬂoﬁm 200 600 700 400
Determine optimum allocation of output.

Csélu. eemQeami Hpeens pemy LSLUESSID
wom 4 QuuGurseeuyd  Gsren@eragl.
CUTEEGATES - JILESD M Laaiss, dsrdrarey
womib Cemaisdr £Cp QasmBsalL[HeTarar.

D: D:z. D3 Ds Qsrererey (_ansaia)

R 5 -7 (.13 | 10 700
Rz 8 | 6 |14 | 13 400
Rs. 12 | 10| 9 | 11 800
Gpaeusdt 200 600 700 400

Lengafled

Cunglomes Q@.%cm@ L&lire|sener m.q_b:m&wa..

23: What are the steps wused in .mcnmmimb

Assignment method? Explain.
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100 | 20.

e
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SECTION C — (8 x 10 = 30 marks)
Answer any ‘Hmwmm @_cm.m.ﬁobw...

MN@HmEgmmwmﬁm :mom E oﬁou.mﬁodm wmmmmuovno
solve the problem. . :
@@  YGrssaareaw  Siés QmE&CqF@ ﬂ@q:Emmm
pepuile LuaTLRSSUIULGWL Cﬁ%m@%&gg eflauffl.
Use Simplex method to solve :

Maximize Z = 4x, + 3%, +4x, +6x,

Subject to the constraints :

%, 4+ 2, + 2x, + 4%, < 80

20, + 2%, +%, <60

3x, +3x, + x5 +x, <80

63 eten s et (U]

Sbliewéev @o%.e:.ﬁ@mﬂ EEQE@.&% Siréa.

<fsfss ‘

Z =4x, +3x, +4x5 +6x,

sLHUuUr@ser

X, + 2%, +2x5 + 4x, <80

2x) +2x3 +x, <60

3x) +3x, + x5 + 2, <80

X1, %g, X3, %4 20

6  62537/CZ34A/BS34A

wm_adled
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uigBlenavaer wrenen ? efleull. |

Solve the game whose ww%-om. m.bwﬁ.un is given by :

Ci C2 Cs Cs
U1 (20 15 12 35
Uz |25 14 5 10

Us|40 2 8 5
Us\b5 4 0 0

@ps Aeverwurieo Siss  Sigan  appFLsThiuy

(Dleassizd <jenfl). = el iQemeu (B
Qarhssriul_pHerergl. - ,

. C1 C Cs Ca

U (20 15 12 35

Uz(2 14 5 10

Us | 40 5

2 8
Usl5 4 -0 .0

8  62537/CZ34A/BS34A



